asym_atll

asym_atrl

asym_atl2

asym_atr2

run7294 000 regressionm-asym at vs d

diff_bpmlX |

10000
- —10(
5000
I — 800
or 3 &0(
B 400
-5000
- 200
10000
i 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | | I | | | I | | D
40 -20 0 20 40 B0
diff_bpmXum
diff_ bpmlX
B I
. —10(
10000
- —an(
5000 m
- B0C
ﬂ -
i 400
5000 N
i m (200
10000
i 11 | | I | | | I | | | I | | | I | | L1 1 | D
40 ~20 0 20 40 &0
difi _bpm1Xum
d .
40000 1
30000
- —10(
20000
10000 - —|Boc
o [
- u BOC
10000 ==
20000 F 40
0000
- 200
40000
- I T N T T N T T T N A N M A A R A B o
40 -20 0 20 40 &0
diff_bpm1Xum
40000
- —12(
20000 — —10(
- — B0(
ﬂ -
- W
| .. E-'Dl:
20000
- 400
40000 200
- N
[ 1

10000
5000
ﬂ_
~5000
10000 | .=
|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
~30 20 -10 ) 10 20 an
diff_bpmdaYium
diff_ bpm4aY
. —la0c
[ |
i n m
10000 — 7o
- —l&0c
5000 m
[ . —{50c
| =
ﬂ_
~5000
- |
10000
_|IIII|IIII|IIII|IIII|IIII|IIII {'
30 20 10 ) 10 20 a0
diff bpmda¥ium
d'
40000 —(=0C
30000 —80c
20000 =70
10000 —600
- n
oF
10000
20000
30000 F 201
N | |
awooo = 1o
- [ |
AEEEEE NN N N N N 0
~30 30 10 ) 10 20 an
diff_bpmda¥ium
diff_ bpm4aY
I
B |
40000 —laoc
- —{80c
20000 | o
I —(60(
ﬂ_
20000
40000
- n
| L 111 | L1 11 | L1 11 | L 1 11 | 1

—12(
10000
- —10¢
5000
a —B0C
ﬂ -
i &0C
~5000 40
- 20(
10000
I | | 1 1 1 | 1 1 1 I 1 1 1 | 1 1 1 | 1 1 1 | | ﬂ
40 20 0 20 40 &0
difi_bpmdaX/um
diff _bpmdeX
| I
10000 — —100
5000 — o —|80c
- &0C
ﬂ -
- 0
, 400
~5000 n
| N 20(
10000 -
i 11 | | I | | 11 1 I | I | | 11 1 | | I | | | ﬂ
40 20 o 20 40 &0
difi_bpmdaX/um
diff
40000
n —12¢
30000
20000 -t
10000 |- oo
L] :— -
- B0C
10000 — | H B
20000 400
30000
- 200
40000
- AN I T N T T N T T O O O O A A 0
40 20 0 20 40 &0
difi_bpmdaX/um
i —14(
40000
] —{12¢
20000 - oc
i BOC
ﬂ -
B [ |
I N S0t
20000
- 400
40000 200
| | | 1 I

60

B —{ 700
B000
R —{ 600
ﬂ_
=R000
10000 — - -
oo bvv v bvvvar bvvva v b o
=30 =20 =10 0 10 20 an
diffi _bopmdaYium
difL
R —{ 80
10000 — —{ 700
i —{ G0
B000
- — 500
ﬂ_
=R000
10000 —
||||||||||||||||||II|IIII|IIII D

=30 =20 =10 1] 10 20 30
diff_bpmday/um

diff_ hpméleY

40000
30000
- — 800
20000
10000
- n 60
oF
10000 | .
.
20000
30000 200
40000 [~ -
AR I T N N o
30 30 10 ) 10 20 a0

diff_bpmdaY/um

diff_bpmdeY

40000 —
: —80(
20000 —
ﬂ_
20000 —
| 200
40000 —
~ |
|||||||||||||||||||||||||||||| 0

Z--postpan.png-—-

10000 —80c
- —{8oc
- —l&0c
ol 500
- A0
5000 300
- 200
B 10
10000 - . .
IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIIlI ﬂ
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
diff_ bpml12X
| I
N |
. —{80c
10000 |-
. —{70c
5000 —lgoc
i [
. —{50c
- N
D_
- | 400
|
. 00
~5000
- 200
10000 100
_IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIIlI ﬂ
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
d'
40000 — W
30000 —2st
20000
- —{z00
10000 —
o 150
10000
- 10(
20000
30000 - S0t
40000 |- -
Do oo v e v by Lo o b 0
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
diff_ bpml12X
I
B |
40000 |-
I —{a0c
20000 |- —{25¢
. —{200
D_
I 15(
20000
. 100
40000 500
- n
IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIIlI ﬂ

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7294 000

10000
: —10(
B000
: —{ 200
o B0
- N
B 400
5000
B 200
10000 —
- L1 | 1 1 | 1 1 | 1 1 | L1 1 | | I | | D
=40 =20 (1] 20 40 [
diff_bpmXum
diff_ bpml1X
I
i = 120
5000 — —80(
: [ |
ol 60l
i [ ]
B 400
5000 |
- 20(
10000 —
i L1 | L1 | | L1 | | L1 | | | | | | 1 | | | D
—40 20 (1] 20 40 [
difi _bpm1Xum
diff
i — —14¢
[ [ |
10000 -1
i —10
B000
i 80
R [ |
ﬂ -
i = B0
. N
<5000 — 400
B 200
10000
TR T NN T e o
40 20 (1] 20 40 [
diff_bpm1Xum
H}DDU
I —10(
5000 [ -
i 600
ﬂ -
: [ |
- n 400
<5000 —
B [ |
B 201
i 0 u
10000 —
| L1 1 | 1

-20)

regression -reg

10000 10000 —12t 10000
i i —{10r i
5000 5000 5000
- - _E.DE -
| | » |
ok = ok
i I BOC i
5000 5000 40 _5000
- - 200 -
B B B -
10000 . 10000 - 10000 .
|IIII|IIII|IIII|IIII|IIII|IIII ﬂ II|III|III|III|III|III|I ﬂ |IIII|IIII|IIII|IIII|IIII|IIII
~30 20 -10 ) 10 20 an 40 20 ) 20 40 &0 -30 20 10 ) 10 20 a0
diff_bpmdaYium diff bpmdeX/um diff_ bpmdeYium
| I | I B I
. m —{aoc [ = [
| [ —{12¢ [
10000 —{70c 10000 10000 |
l l —{100 i
i —|600 i i
5000 5000 - 5000 - -
- - E.Dl: -
i | i
o o 00 oF
- - " 0 i
5000 5000 m 40 5000
[ [ 200 |
10000 10000 — u l. 10000 [
B B B |
_|IIII|IIII|IIII|IIII|IIII|IIII {' _IllIII|III|III|III|III|I ﬂ _|IIII|IIII|IIII|IIII|IIII|IIII
30 20 10 ) 10 20 a0 40 20 ) 20 40 &0 30 20 10 ) 10 20 a0
diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium
diff _ diff _ gj;thpmélcY
| I —1.'}': | I B
[ [ —{14( [
10000 10000 _ 10000 |
_ o i 12( -
- - —{10r -
5000 5000 5000
i i m [P i
o o or
. [ BOC [
|
N N [ | |
~5000 -5000 400 ~5000
- - 300 -
10000 10000 10000 |
I RN R R 0 N T A N e 0 I N NN N R
~30 30 10 ) 10 20 an 40 30 ) 20 40 &0 30 30 10 ) 10 20 a0
diff_bpmda¥ium diff_bpmdaX/um diff_bpmdaY/um
diff _ diff _ diff_bpmdeY
— — B0 —
10000 10000 10000 |
I - —1oc -
5000 5000 5000
N N —{anr N
I I 401 i
~5000 | ~5000 ~5000
- - 200 -
i 106 - -
10000 u 10000 10000 | u
|IIII|IIII|IIII |IIII|IIII|IIII|IIII|IIII|IIII

at vs

bpm-COLZ GoStpai bhs =

—{70C

1]

— 700

1]

—100

o

— 700

10000 — u —1 900
: —{800
5000 — 700
B —{ 600
o 50(
n [ |
B 400
5000 30
B 200
R |
o u 100
'H]UUU_ -
EENIEEINEINERINEENE REERIENEREREE NI RN ENE N 0
=200 =150 =100 <50 1] 50 100 1850 200
diff_bom12X/um
diff bpm12X
L
i m — S0
i n n
10000 — 80t
- —{70¢
Loon — —{600
: LM
o [ ]
B 400
B a0
~R000 —
B 200
10000 — 100
Lol b b b b b b L 0
200 <150 100 <50 1] 50 100 10O 200
diff_bpm12X¥/um
difft bpm12X
i [ ]
| e REH
10000 —
| - i —a0i
B000
i B0
o = -
- 400
5000 —
- 20¢
v b b b bvvra o biraa Lo b 0
200 <150 100 <50 1] 50 100 1RO 200
diff_bom12X/um
diff bpm12X
L
'1[?EIU|:|_— lapr
B —70r
L0000
| —{ 600
: B L
D_
B 400
: anc
5000 —
= 200
i 100
- . .
10000 —
EENIEEINEINERINEENE REERIENEREREE NI RN ENE N 0

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

run7294 000 reeres

diff bpm1X

¥2/ndf  17.23/24 }
p0 -14.04 + 8.49 “
p1 44.06 +1.19 ]
: ﬂ*ﬂmﬂ
ok / t
i H
=200 _— }
_a000 | |
~B000 -—
-I||||||||II|IIIIIII|IIIII
40 =20 i 20 40 B0
diff _bpmlX
- ¥2 / ndf 24.02/ 24
4000 —
: | p0 12.07 + 10.00
2000 —
; {W o1 -50.83 + 1.39
oF } W’\ ﬁ
i e
=200 :— *’H-‘ hi-
=400 :—
6000 — }
_E.I}Dnjllll_ll||||||IIIIII|IIIII

-40 =20 0

20

40 60

diff_bpm1X

¥2 [ ndf 26.25/ 24
p0 53.69 + 31.50
p1 166.9+ 4.5 H |
n Ui
[ - +++J[} |
o /
-5000 | MMﬂ
10000 |- H +
1EDDD%||||||||||||||||||||||||
40 20 0 20 40 60

diff_bpm1X

¥ / ndf 26.3/24
p0 5119+ 32.93
p1 3322147

of
~5000 — _
10000 — MHLH
15000 — H
zunnn: ..I...I...

diff_bpmdaY

¥Z [ ndf 43.34 / 36
p0 -13.33 + 8.60 |
p1 24.7311.63
uf— *Jq}J,MfMJ
-mnnf— ] H1
—E{?DDE— N
—E-DDDE— -
-xmnnf— )
-E-DDD:—|||||||||||||||||||||||||||||||
=30 =20 =10 0 10 20 30

diff_bpmdaY

¥2 / ndf 38.56 / 36
p0 7.749 4+ 10.135
p1 1.621+ 1.909 i
u {J | ’rJ'fq:ﬂw--—n*-me}[H
°r w \Jﬂjr’r } H
2000 _—
4000 _—
=000 _— -
‘llIII|IIIIIIIII|IIII|IIII|IIII|

=30 =20 =10 0 10 20 30

diff_bpmdaY -

¥2 ! ndf 47.13 /36

p0 33.43 + 29.51 rﬂm

o1 573.6+ 5.6 //

mnnn:— }H}}f} '

E[FDUU:— _'

.':'I-'I]DUU:—
:||_|||||||||||||||||||||||||||||
=30 =2 =10 1] 10 20 a0

dlthpmélaL

¥e [ ndf 52.02 / 36
+

00 30.67 + 31.59 +-H|} }

o1 637.6 + 6.0 {
10000 [ HHP*H?“

i | +

20000
30000 [

at vs diff bpm

SSlOIl casvm a

diff_bpmdeX

¥2 [ ndf 20.3/24
p0 —-12.79 £ 8.50
p1 44.44 +1.18 | M
_ ﬂ‘V/;{ﬁlﬂ
or H -
-EEIDD:— i J
-mnn:— ) {}
—EDDD:— -
-.E.DDD:—||||||||||||||||||||||||
-40 =20 0 20 40 60

diff_bpmdeX

6000 [~ ¥2 [ ndf 18.3/24
4000 | p0 12.74£10.03
2000 [- h ;J{H‘ -48.86 + 1.39
[ }
ol # }M{
B 1 4
: ;
~2000 |- -
~4000 |- }
~6000 |
-8000 |- _
; 11 | | I | | | I | | | I | | | I | | | I | | |
40 20 0O 20 40 60

diff_bpmdeX

2/ndf  27.19/24
p0 50.77 + 31.45
p1 1865+ 4.4 :THJ'H}{ '
|
-5{:003— } wfr’r
1{?DDDf— i -
150003— ) _
EﬂDDDf— ]
OSSN AT T T N N T A T T A
-40 =20 0 20 40 60

diff_bpmdeX

y2/ndf  31.29/24
p0 49.65 + 32.80
p1 350.9 + 4.6
- - ﬁw/
10000 — - }
20000 :—
30000 :—
i | | 1 1 1

1t postpan.png

diff_bpmdeY

¥2 / ndf 429136
p0 ~13.65 + 8.57 le
FHU__ _29.5?11.55 Ww I
_WW
b |1
oo
of |
I I I I T T T AT Y B B A B A A

=30 =20 =10 1] 10 20

30

diff_bpmdeY

¥= | ndf 53.68/ 36
p0 5./6 1012
p1 6.437 £ 1.960
mnnf— - H
- (ORI
b s ! |
~1000 | | {'
_zunnf— -
-.:}DDD:_lllllllll|||||||||||||||||||||
a0 20 10 D 10 20 30
E.I“I‘Il:if 3212!35
p0 30.7 + 28.7 + M
pt 669 + 5.5 A J
of
10000 - |t
B i
- ﬁﬁ
zunnn:—
:mnnn:— }
dAEEENEEEENENEENE NN NN AN
ap 20 10 D 10 20 30
¥e | ndf 3435;"35
p0 26.37 £ 30.63 +M
p1 741.4+59 S 1
o
10000 [ T
[ +
-
20000 [~
30000 |- }
_|||||I||||||||||||||||||||||||
20 <10 0 10 20 30

diff _

3000

2000

]
S —
—_——

1000

1]

=1000

=2000

=3000

=4000

x2/ndf  2573/33
p0 —14.8 + 8.4
D1 ~13.2+0.3

|

U |

200 -150 -100 -50 1]

diff_bpm12X

4000

—_—

L e e TN B s
—
=

2000

=2000

4000 —~

50 100 150 200

%2/ ndf
p0

p1

29.61 /33

8.04 £ 10.01

-8.785 £ 0.310

I

200 -180 -100 -50 1]

diff _

40000
30000
20000
10000

1]
10000
20000

30000

40000

50 100 150 200

¥2 / ndf 39.01 /33
pO 1.729 + 8.892
p1 -237.7£0.3
t"‘m
Hlll. -+
b

200 -180 -100 -50 1]

diff_bpm12X

40000

=

30000

F

20000

10000

1]

10000

20000

30000

40000

50 100 150 200

¥? ! ndf 43.33/ 33
p0 4,701+ 9.395
p1 —256.2 £ 0.3
,.1#
ity
Ty

|:|—|-III|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIIlI

0o
-200 =150 -100 -50 1]

50 100 150 200




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7294 000 regression reg a

%

bpm1X

4000 |- %2 / ndf 20.74 / 24
3000 - p0 -16.02 + 8.35
2000

- pi 0917511711
1000 M} |

2 - ey ]‘

i: i i |

~1000 |

n I
-2000 | |
_:mnnf— -
—4000 —
-E-DDDEr||||||||||||||||||||||||

40 -20 0 20 40 &0

diff_bpm1X

- %2/ ndf 23.83 /24
2000

B | p0 9.62 + 9.87

i t

N

- p1 -0.9567 £1.3756
~2000 — }
~4000 — }
6000 -
8000
0000 7 | bl b b

-40 =20 0 20 40 60

diff_ bpm1X

%2 / ndf 17.16/ 24
p0 1.717 + 8.297 )
pi 0.7351+ 1.1564 |
- | I + |
~1000 | { |
~2000 |
3000 |~
RN N N N

-40 =20 0 20 40 60

diff_ bpml1X

%2/ ndf
p0

p1

11.77 724
-3.248 + 8.464

1.183 £1.193 "‘""""ﬁ-l—ﬁM‘ -
T

=1000

=2000

=3000

=4000

=5000

|
_—
I
I

diff

4000

3000

2000

1000

=1000

=2000

-3000 -

%
%

4000

2000

=

=2000

=4000

= 6000

_bpmdaY

%2/ ndf 38.13/ 36
p0 -145 £ 8.4
p1 -1.183 £ 1.583

30

-20 =10 0 10 20 30

i ¥2 / ndf 38.41 /36
[ p0 4.924 + 9.896
B p1 —-0.1476 + 1.8594
: m #W*LHJHH

N WHIJFI } H

—l L 111 | 1 1 11 I 1 111 | L1 11 | 1 111 | I-I 1 1 |

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

E ! ndf 35.74 /36
po —2.366 + 8.316 -
pi 0.43898 = 1.5668 ‘ H}}H l -
T “i"I"II
1000 |- )
o000 -
=3000 l‘ ]
N AR SN TS N R
=30 =20 =10 1] 10 20 a0

3000

2000

1000

o

=1000

=2000

=3000

~4000

=5000

~6000

diff_bpmd4aY

g

i %2 | ndf 19.96 / 24
4000

i p0 -14.71 £ 8.37
2000 - p1 -1.107 £ 1.164

i I

of 1 H{'l’hﬁ:h—-,—p—_&ﬂﬁjrﬂmﬂ
2000 - ﬁ )
_apno [ -
_EDDD I__I 1 | | | | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | ]
40 -20 0 20 40 60

diff_

_bpmdeX

i %2/ ndf 14.37 / 24
4000 [~

[ p0 10.18 + 9.89
2000

i p1 -1.087 £ 1.376

0 ~ |_"H!‘++++I1=" = ---T-n+,+.

- 2000 :— B
- 4000 :—
~B00D :—
~8000 :—

TIIlIIIlIII|III|III|III|I

40 20 0 20 40 60

diff_bpmdeX

%2 { ndf 16.64 / 24
po0 1.849 + 8.312
pl 01277 £1.1528 I )
of | [ifire—en
-mnnf— M
-EDDDf— _ -
-:mnnf— -
-mnnf— I
r ol b by b by
-40 =20 0 20 40 60

diff_bpmdeX

_ ¥ [ ndf 24.46 [ 36 12 / ndf 28.66 / 24

g ] po -4.652 = 8.492 po {37 + B.48 -
: | p1 -0.9884 = 1.6106 p1 0.9805 + 1.1852

S iy LU ] | ol
- __} I] ||| | U_ "”—I—H"HW%

— - } I t }
;_ ~2000

= ~4000 - *
- 6000 |-

_|

at vs diff bpm

_fit postpan.png

diff

2000

1000

= 1000

= 2000

=3000

=4000

_bpmdeY

- +2 | ndf 45 /36
- - 00 _14.91 + 8.36
. i _

3 ﬁ MILPL:I‘#W pl  -1.305 + 1.616
: !

—_l L1 11 I | I | | L 1 11 | L 111 | L 1 11 | L 111

=30 =20 =10 (1] 10 20 a0

diff_bpmdeY

¥ / ndf 48.75/ 36
p0 3.613 £ 9.885
p1 1174 £1.910
znnnf—
mnnf— 1 H J
ni— }wmjrwr'ﬂm
_mnnz— } +I
-:mnnf— {
—EI}UU:—IH..I...|I||||I||||I||||I||||
30  -20  -10 0 10 20 30

91

4000

3000

2000

1000

= 1000

= 2000

=3000

9-.

3000

2000

1000

= 1000

= 2000

=3000

iff bpmdeY

%=/ ndf 36.91 736
p0 -1.508 £ 8.311

pi -0.8117 = 1.6051

II Rt +I+MILJ _

+

|
—_—
—_—

Flov v bvvr v v b v bv e ||j|
=30 20 =10 1] 10 20 an

iff _ bpmdeY

%2/ ndf 44.45/ 36

p0 -5.246 £ 8.474

p1 -1.022 £ 1.647

o]

If

—

|

-20 =10 1] 10 20 30

diff_bpm12X

2 | ndf 26.64 / 33
p0 143 + 8.3

p1 0.1472 + 0.2589

e
- |

200 -150 -100 -50 1] 50 100 150 200

diff_bpm12X

¥2 | ndf 29.5/33
po 7.768 + 9.849

p1 0.1475 + 0.3052

R

1]

=1000

=2000

=3000

=4000
by b by by by by biaaa 1y
=200 =150 =100 <50 0 50 100 150 200

diff_bpm12X

TFTTrTT T TTTTTTTTI TTTTTTTTIT
I I I I I I
—_—
—_—

2000 [ ‘,:{2 { naf 3957733
Z p0 1527 + 8.268
1000 —
B p1 002177 + 0.25644
1] i . + ' {-} -
= 1000 l‘ -
2000 —
-...fl....l....l....l... ANNEREEEENINNE NN

200 -180 -100 -50 1] 50 100 150 200

diff_bpm12X

¥/ ndf 36.28 /33
00 _3.986 + 8.442 _
p1 0.001572 £ 0.261207 |
ey |
-mnnf— '
—EI}DEIf—
-:mnnf—
-mnnf—
o b v b b b Lo s beaaa b

-200 =150 -100 -50 1] 50 100 150 200



asym_atll

asym_atrl

asym_atl2

asym_atr2

10000

5000

=5000

10000

10000

5000

=5000

10000

40000

30000

20000

10000

10000

20000

30000

0000

40000

20000

20000

40000

diff_bpmXum

difi _bpm1Xum

diff_bpm1Xum

run7294 000 regression-a

SYm | “at

10000

5000

=5000

10000

diff_bpmda¥ium

10000

S000

=5000

10000

diff_bpmda/um

40000

30000

20000

10000

10000

20000

30000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

40000

|
g —
|

2

[

—

=

=

—

=

B

=

diff_bpmda¥ium

ifL
40000 —

20000 —

20000 —

40000

“vs diff b

10000

5000

=5000

10000

10000

5000

=5000

10000

40000

30000

20000

10000

10000

20000

30000

40000

40000

20000

20000

40000

diff_bpmdeX/um

diff_bpmdaX/um

diff_bpmdeX/um

m-S””cat”

tp

10000

5000

=5000

10000 —

10000

5000

=5000

10000

diff_bom4eY/um

ifL
40000
30000

20000

10000

10000
20000

30000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

40000

diff_bpmday/um

L
S

40000 —

20000 —

20000 —

40000

diff_bpmdaY/um

10000 —

5000 —

=5000

10000 —

b v b b b bvna b b
200 =150 -100 =50 0 30 100 150 200

diff_bpm12X/um

10000 —

5000 —

=5000

10000 —

Lo b b b b beva b banaa b
200 <150 -100 =50 0 S50 100 150 200
diff_bpm12Xium

iff_ bpmI12X

40000

30000

20000

10000

1]

10000

20000

30000

40000

prrr v bvvrrberrr bvrra v bvraa b by
200 <150 100 <50 1] 50 100 1RO 200

diff_bpm12X/um
ifL

40000 —

20000 —

20000 —

40000 L

-|||||||||||||||||||||||||||||||||||||||||
200 -150 -100 -50 1] 50 100 180 200
diff_bpm12X/um




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

it

10000

5000

=5000 —

10000 —

10000 —

5000 —

5000 —

10000 —

diff_bpmXum

10000

5000

=5000 —

10000 —

difi _bpm1Xum

1

10000

5000

5000 —

10000 —

diff_bpm1Xum

run7294 000 regression -reg

it

10000 10000 10000 |
5000 5000 5000
ok = ok
~5000 ~5000 ~5000
10000 o 10000 ; 10000 [
_|IIII|IIII|IIII|IIII|IIII|IIII _IllIII|III|III|III|III|I _|IIII|IIII|IIII|IIII|IIII|IIII
~30 20 -10 ) 10 20 a0 40 20 ) 20 40 &0 -30 20 10 ) 10 20 a0
diff_bpmdaYium diff bpmdeX/um diff_ bpmdeYium
™ . ! . ff
| I | I
10000 |~ R I 10000 |~ 10000
5000 5000 5000
0 ok 0
~5000 ~5000 ~5000
10000 10000 o D 10000
_I | | L1 1 | L1 1 I L1 1 | L1 1 | L1 | | |

diff_bpmda/um diff_bpmdaX/um

diff_bpmdeX

diff_bpmday/um

10000 — 10000 — L _' . 10000 -
B000 B000 5000 —
o o ) o
=5000 5000 — =5000
10000 [~ S 10000 A 10000 [~
v v b b by by I T TR T AN A A AR N A A R A I N R AN RN NN
~30 20 =10 1] 10 20 an 40 20 1] 20 40 e =30 20 =10 1] 10 20 an
difi_bomdaYium diff_bpm4eX/um difi_bpmdaYium
.lji [ ] [ ]
I
10000 — 10000 — } 10000 -
L0000 L0000 — S000 —
o o o
=5000 5000 — =5000
10000 |— : ' 10000 |- S 10000 |-
I A A N IR A I R oo bvv v bvvvar bvvva v b

-2{) -20 =10 1] 10 20 30

at vs diff-bpm-scat postpan.pn

10000 —

5000 —

=5000

10000 —

b v b b b bvna b b
200 =150 -100 =50 0 30 100 150 200

diff_bpm12X/um

10000 —

2000 —

5000 —

10000 - SR

Lo b b b b beva b banaa b
200 <150 -100 =50 0 S50 100 150 200
diff_bpm12Xium

10000 —

5000

=5000 —

10000 —

v b b b bvvra o biraa Lo b
200 <150 100 <50 1] 50 100 1RO 200
diff_bom12X/um

10000 —

5000 —

5000 —

10000 — e
v b b v b s bvvrs b b

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um




